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DO NOT BEGIN WORKING UNTIL THE INSTRUCTOR TELLS YOU TO DO SO. READ THESE INSTRUCTIONS FIRST.

You have 75 minutes to complete the exam. The exam consists of 13 binary choice questions and 24 multiple choice questions. Each binary choice question is worth 2 points, and each multiple choice question is worth 3 points.  You will get 2 points for filling in your name, student ID number, number of the discussion section that you are enrolled in, and version number correctly. Please answer all questions on the scantron sheet with a #2 pencil. 

No cell phones, calculators, or formula sheets are allowed. 

PICK THE BEST ANSWER FOR EACH QUESTION. 

How to fill in the scantron sheet: 

1. Print your last name, first name, and middle initial in the spaces marked "Last Name," "First Name," and "MI." Fill in the corresponding bubbles below. 

2. Print your student ID number in the space marked "Identification Number." Fill in the bubbles. 

3. Write the number of the discussion section you are enrolled in under "Special Codes" spaces ABC, and fill in the bubbles. You can find the discussion numbers below on this page. 

4. Write the version number of your exam booklet under "Special Codes" space D, and fill in the bubble. The version number is on the top of this page. 


Other Instructions:

1. If there is an error on the exam or you do not understand something, make a note on your exam booklet and the issue will be addressed AFTER the examination is complete. No questions regarding the exam can be addressed while the exam is being administered.   

2. When you are finished, please get up quietly and bring your scantron sheet and this exam booklet to the place indicated by the instructors. 

 Discussion sections are as follows: 

	Atsuko Tanaka 

363 2:25 F 53 BASCOM

370 3:30 F 6310 SOC SCI


	Jiabin Wu

360 8:50 F 52 BASCOM

357 11:00 F 286 VAN HISE

358 12:05 F 52 BASCOM

364 13:20 F 222 INGRAHAM


	Heewoo (Hugh) Kang

366 8:50 F 214 INGRAHAM

373 9:55 F B337 VAN VLECK

361 13:20 F 116 INGRAHAM

362 14:25 F 123 INGRAHAM



	Drew Anderson

371 9:55 F 475 VAN HISE

356 11:00 F 290 VAN HISE

359 12:05 F 115 INGRAHAM

372 15:30 F 6224 SOC SCI 


	Young Wook Lee

367 8:50 F 122 INGRAHAM

374 12:05 F 123 INGRAHAM

365 13:20 F 120 INGRAHAM


	


Work sheet:

DO NOT BEGIN THE EXAM BEFORE READING AND COMPLYING WITH THIS PAGE. 
“Society depends upon some minimal level of integrity in our graduates, not just upon their academic knowledge or skills.”
- Gary Pavela, founding member of The Center for Academic Integrity

Academic misconduct is a vital issue concerning all members of the University community. Those who engage in academic misconduct, and those who ignore it when they become aware of it, threaten the integrity of the University and of the educational process.

As a UW-Madison student, you have the right to expect that you and other students will be graded fairly, and you have rights of due process should you be accused of misconduct. You also have an obligation to conduct your academic work with honesty and integrity according to University standards. Therefore, it is important that you:

· Become familiar with the rules of academic misconduct.

· Ask your instructor if you are unsure what behaviors constitute academic misconduct in a specific class or assignment (for example, how to cite from the web or whether to work with another student on an assignment).

· Let your instructors know if you think you see incidents of misconduct.

· Be aware that helping someone else to cheat is a violation of the rules and may result in misconduct charges against you.

I, _____________________________________, have read the above statement, understand the above statement, and agree to adhere to the standards implied by the above statement. 







__________________________________







Student Signature

I. Binary Choice Questions: (Worth 2 points each)

1. At her current consumption level, Katherine would get half as much marginal utility from an additional bagel than from an additional muffin.  If Katherine is maximizing utility, the price of a bagel is

a. Half the price of a muffin

b. Double the price of a muffin

2. A demand curve with unit price elasticity must be a straight line.

a. True

b. False

3. The price elasticity of demand for steak is generally higher than the price elasticity for meat.

a. True

b. False

4. A certain bakery in Madison makes unique, delicious bagels, and its dedicated customers will  not adjust their demand in response to a price change.  If the owner wants to increase the bakery’s total revenue, she should

a. Raise the price of bagels.

b. Lower the price of bagels.

5. For Plato, Consumption Bundle A (1 cup of caramel macchiato, 20 cups of espresso) and Consumption Bundle B (2 cups of caramel macchiato, 1 cup of espresso) lie on the same indifference curve.  From this information, one could infer that 

a. Plato enjoys espresso more than caramel macchiato.

b. Plato enjoys caramel macchiato more than espresso.

6. Suppose coffee and donuts are perfect complements for Tim.  Considering only Tim’s fixed budget for coffee and donuts, if the price of donuts increases, then 

a. The substitution effect between the two goods is 0, and any change in demand for donuts is completely due to the income effect.

b. The income effect between the two goods is 0, and any change in demand for donuts is completely due to the substitution effect.

7. Conditions that are necessary for a market to be perfectly competitive include:

a. All firms face an inelastic demand for their product.

b. Firms can easily buy and sell the productive resources necessary to compete in the market.

8. In the long run, all firms in a competitive market are indifferent between producing the long run equilibrium level of output and shutting down since at the long-run equilibrium, both accounting profits and fix costs for the firms are equal to zero.

a. True 

b. False

9. In the long run, in a perfectly competitive market, the price of a good is determined primarily by the 

a. Per-unit cost of production.

b. Decisions of buyers about how much they are willing to pay for the good. 

Use the following information to answer the next question.

	Year
	CPI (BY= 1960)
	CPI (BY = 1980)

	1980
	200
	

	2000
	300
	A

	2009
	400
	B


10. Solve for A and B, respectively.

a. 150; 200

b. 200; 300

11. When the price of good X decreases by 10%, the quantity demanded of good X increases by 20% and the quantity of a complement, good Y, increases by 30%.  Calculate the cross-price elasticity of demand for good Y, with respect to the price of good X.  (Warning: some information given in this problem is not used for the calculation.)

a. - 2

b. - 3

12. Which of the following statements is true whether the time period is the short run or the long run? The level of output chosen by profit maximizing firms is where 

a. Average total costs are minimized.

b. Marginal revenue equals marginal cost.

13. A firm is producing at an output level such that the firm’s average variable cost is greater than its marginal cost. If this firm produces one additional unit of output, how will its average variable cost change? 

a. The firm’s average variable cost will increase.

b. The firm’s average variable cost will decrease.

II Multiple Choice Questions (Worth 3 points each): 

Use the following information and graph to answer the next four (4) questions.
The two graphs below represent the initial equilibrium in the perfectly competitive industry for black tea.














14.  What is the profit-maximizing quantity of output that this firm will choose to produce in the short run? 
a.   0 units of output
b.   5 units of output
c. 10 units of output
d. 15 units of output
15. At the profit-maximizing point of production in the short run, the firm’s total costs are

a.     $0, since the firm will not choose to produce at the given market price. 

b. $120.

c.   $50.

d.   $90.

16. What is the value of fixed cost for this firm?   

a.   $0.

b. $40.

c. $50.

d. There is not enough information to provide an answer.

17. In the long run, how many firms will there be in this market? Assume that neither the firm’s ATC curve nor the market demand curve changes.
a.   80 firms

b.   40 firms

c. 100 firms

d.     0 firms

18. Pepsi One is a close substitute for Diet Coke.  When Pepsi introduced Pepsi One, which of the following most likely happened?

a. The supply for Diet Coke shifted left and became more inelastic.

b. The supply for Diet Coke shifted right and became more inelastic.

c. The demand for Diet Coke shifted left and became more elastic.

d. The demand for Diet Coke shifted right and became more elastic.

Use the following information to answer the next two (2) questions.
Suppose the CPI for the country of Timberland in 2009 is measured as 300, using 2008 as the base year and a scale factor of 100.  Tom is a guitarist in one of Timberland’s most famous rock bands.  The price of a Gibson guitar in 2009 is $1,200 in Timberland currency, while the price in 2008 was $600.

19. Tom received a coupon from Gibson Company worth $2,400 in Timberland currency.  He received the coupon at the beginning of 2008, but he hasn’t used it yet.  It is set to expire at the end of 2009.  What is the difference in the amount of guitars Tom could have bought using the coupon in 2008 versus using it now in 2009?

a. 0

b. 1

c. 2

d. 3

20. What is the difference in the real price level of a Gibson guitar between 2008 and 2009 in constant 2008 Timberland currency?

a. Gibson guitars are $200 more expensive in real terms in 2009 relative to 2008.

b. Gibson guitars are $200 cheaper in real terms in 2009 relative to 2008.

c. Gibson guitars are $120 more expensive in real terms in 2009 relative to 2008.

d. Gibson guitars are $120 cheaper in real terms in 2009 relative to 2008.

21. Arthur Dent earns $65 every week, all of which he spends on coffee and savory scones.  He buys 5 cups of coffee and 15 savory scones.  After buying these goods, his marginal utility of buying another cup of coffee is 12 and his marginal utility of buying another savory scone is 3. Each cup of coffee costs $4 and each savory scone costs $3. Then which of the following statements is true?
a. The consumption plan depicted above is not affordable.
b. He is spending his income on coffee and savory scones in such a way as to maximize his utility.  

c. He is not maximizing his utility. He should consume more savory scones and less coffee.
d. He is not maximizing his utility. He should consume more coffee and fewer savory scones.
22. Jenny spends all of her income on two fruits: kiwis and pineapples.  Suppose the price of      pineapples increases, and Jenny’s income increases, while the price of kiwis is unchanged.  Which of the following graphs most accurately expresses the change in her budget line?

a. Graph 1

b. Graph 2

c. Graph 3

d. Graph 4
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23. Suppose the hand weight market in the U.S. is perfectly competitive in long run equilibrium.  Currently, the price of 5-pound hand weights is $20, and all 100 firms in the market are producing at the profit-maximizing quantity of 1000 units.  Thus, we can say that marginal cost for each firm is

a.     $5.

b.   $50.

c. $500.
d.   $20.

Use the following information to answer the next two (2) questions.

Jack loves Yoplait. He receives 4 units of utility from each Strawberry Yoplait, and 6 units of utility from each Blackberry Yoplait. They are perfect substitutes for Jack.
24. The following graphs measure consumption of Strawberry Yoplait on the x-axis and Blackberry Yoplait on the y-axis.  Which of the following indifference curves represents 12 units of utility to Jack from consumption of Strawberry and Blackberry Yoplait?


[image: image2]
25. Jack has a budget of $10 with which to buy Yoplait.  Each cup of yogurt costs $2, regardless of flavor.  How many cups of each flavor should Jack consume to maximize his utility?

a. 5 strawberry, 0 blackberry

b. 0 strawberry, 5 blackberry

c. 4 strawberry, 3 blackberry

d. Every combination satisfying his budget constraint will maximize his utility.

Use the following graph to answer the next two (2) questions.


[image: image3]
26. This graph summarizes consumption possibilities over two goods, Good X and Good Y.  Budget Line 1 (BL1) depicts a budget constraint with PX=$20, PY=$10, Income=$100.  Point A is the optimal consumption choice under the budget constraint expressed by BL1.  The marginal rate of substitution of Good X for Good Y at Point A must be  
a. 10.

b. 2.

c. 20.

d. There is not enough information given in the problem to answer this question.

27. Hugh recognized that this graph could be used to analyze income and substitution effects of a price change.  He made the following conclusions after interpreting this graph, but only one of his conclusions is true.  Which of the following conclusions is true?

a. The price of Good X increases in a move from BL1 and BL2.

b. Good X is relatively cheaper given budget line BL3 as compared to budget line BL1, so the consumer prefers Point C to Point A.

c. Good X is a normal good.

d. Good Y is a normal good.

Use the following information to answer the next two (2) questions.

Firm HH produces bicycles.  The table below is firm HH’s short run Total Cost Table.

	Quantity
	Total Cost

	0
	21

	2
	50

	6
	140

	7
	161

	10
	280


28. What is the average variable cost of producing 7 bicycles? Round your answer to the nearest whole dollar amount. 

a. $18/bicycle

b. $20/bicycle

c. $23/bicycle

d. $25/bicycle

29. Due to a new rental agreement, HH’s fixed costs have increased by $10.  After this change in fixed costs, what is the marginal cost of one additional bicycle, when the firm is producing 6 bicycles? Round to the nearest whole dollar amount. 

a. $21/bicycle

b. $31/bicycle

c. $41/bicycle

d. $51/bicycle

30. Economic costs are ________ accounting costs.  Economic profits are ________ accounting profits.

a. At least as great as; no greater than

b. At least as great as; at least as great as

c. No greater than; no greater than

d. No greater than; at least as great as

31. Ryan decides to quit his $40,000 a year job to start his own company.  In order to pay for the initial investment, Ryan spends his savings of $10,000 which otherwise would result in an interest payment of 5% each year to Ryan.  In its first year, Ryan’s company generates sales revenue of $50,000 and its total operating expenses are $10,000.  Given this information, what is Ryan’s economic profit for the first year?

a.      -$500

b.           $0

c.  $40,000

d.  $50,000

Use the following information and graph to answer the next three (3) questions.
The following table gives cost information for a firm.  Assume that labor is paid a constant wage, i.e. our firm is a price-taker in the labor market. Also, assume that the price of capital is constant. 

	L
	K
	Q
	MPL
	VC($)
	FC($)
	TC($)
	AVC($)
	AFC($)
	ATC($)

	0
	6
	0
	---
	
	
	
	---
	---
	---

	1
	6
	
	2
	
	
	
	5
	
	

	2
	6
	
	5
	
	
	
	
	
	

	3
	6
	X
	13
	
	
	40
	
	
	

	4
	6
	
	7
	
	
	
	
	
	

	5
	6
	
	3
	
	
	
	
	
	

	6
	6
	
	1
	
	
	
	
	
	


32. According to the information in the table,

a. X= 5 units of output

b. X= 10 units of output

c. X= 15 units of output

d. X= 20 units of output

33. According to the information in the table, what is the fixed cost of this firm?

a. $5

b. $10

c. $15

d. $20

34. According to the information in the table, what is the wage rate (that is, what is the price of a unit of labor)?

a. $5 per unit of labor


b. $10 per unit of labor

c. $15 per unit of labor

d. $20 per unit of labor

35. Firm A produces in a market with many firms and therefore Firm A cannot influence the market price. Currently Firm A is producing at an output level where its average total cost is equal to the market price. At this level of production, Firm A’s average total cost is greater than its marginal cost. Assume that there is no change in the market price of the good. If Firm A wants to maximize its profits, Firm A should

a. Shut down immediately.

b. Produce less in the short run and shut down in the long run.

c. Produce more in the short run and continue to operate in the long run.

d. Produce at the current production level in the short run and in the long run.

36. Increasing Returns to Scale (IRTS) refers to                
a. The situation in the long run where the firm’s average total cost decreases as the size of the plant increases.

b. The situation in the long run where the firm’s average total cost increases as the size of the plant increases.

c. The situation in the short run where the average total cost decreases when the quantity of input factors is increased by some amount. 

d. The situation in the short run where the average total cost increases when the quantity of input factors is increased by some amount. 

37. The short run total cost function of a representative firm in a perfectly competitive market is given by the equation TC = q2 + 100q + 100, where q denotes the units of output produced by the firm.   The implied short run marginal cost curve for a representative firm is therefore MC = 2q + 100. Assume the market demand is given by P = 300 – Q where the market quantity demanded is Q. Suppose the short run equilibrium price of output is $120.  How many firms are in this industry in the short run?
a. 10 firms
b. 12 firms
c. 18 firms
d. 180 firms
Answers

1)-5)  
 a b a a b 

6)-10)   a b b a a

11)-15) b b b c d 

16)-20) c b c c b

21)-25) d a d b b 

26)-30) b c b a a 

31)-35) a d b b c 

36)-37) a c 
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